Multiplication practice, word problems and reasoning.
· 5 x 6 =                              2 x 7 =                              10 x 8 =

        5 x 12 =                              2 x 9 =                              10 x 11 =

        3 x 4 =                                4 x 6 =                              6 x 6 =
· 6 x 5 = 30   Can you draw the pattern (array) to show this is correct?
What other multiplication sum do you know from this pattern?

Which 2 division sums will you now  also know the answers to?

· Sally gives out 8  party bags at the end of her party. Inside each party bag are 5 balloons. How many balloons does Sally give out? _____

· How many points are there on 7 triangles?___________

· 12 people came to see a show and they paid £4 each. How much were the ticket sales altogether?
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For each .number sentence, circle .a sumber that could
reasonably correct. You do not need to work out the answer!

Write a sentence to explain why you chose that number.

19x5 = 84 s 93

19x2= 35 33 38

19x10 = 190 185 192





